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for the questions

Answer either in English or in Assamese

1. Answer the following questions as directed :
1x10=10
ool PR oo eppTRe e e
(a) Whatis ‘normal profit?
e =e 2

(b) Is there consumer surplus under first
degree price discrimination?

qem o @ Reenears TAceed Tge
0 ?
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(c)

(@)

(e)

(g)

(b

()
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(2)

Economic rent = Actual earning -
( Fill in the blank )
AT S = Ao WA~ |

(2 31 <@ 40 )

What is internal rate of return?

wrerEald afewe 21 92

At ‘shutdown point’, average revenue =
average variable cost.

( Write True or False )
T TR {7, oS W = 1% ARG T
7 | (W7 1 SRR o )

Marginal revenue product = Marginal
physical product x

( Fill in the blank )
Aifee & -9 Terma = difes I/Ie SeAMA
x | ( <& 3 *[9 T )
Write the second-order condition of

Pareto optimality.

(RO FTregd @l «figa vEc féix |
What is ‘collective bargaining’?

‘@ w6 2

“Profit is the compensation payable

to entrepreneur for his risk-bearing
function.” Who made this statement?

‘oS Caer GE SrUTeiR 32 91 WfeS AT
frgaar wlosEd 17 @2 TRedh! @i [ % 2

{ Continued )

G

(3)

What is a ‘group’ under monopolistic
competition?

TR Al Teme T &2

2. Answer the following questions : 2x5=10
o ePTRd Ted e
{a) “A competitive firm is a price-taker and

(b)

(c)

(d)

8A/716

a monopoly firm is a price-maker.”
Comment.

‘g Afed AfSPE TH Feel WE 93
ICHOHT SO =7 W R Tl 17 T
il

Write two justifications in favour of price
discrimination.

73 Reenseem 3o 101 399 3 o |

Why do we need to study a separate
theory of distribution?

i {e399 B AT OF FGFT AAEAT!
&2

Define unpredictable risks with suitable
example.

ST e FRT GIERI TR HACE
g Trread fr fera |
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(e)

(4)

Average annual profit of a project is
¥50,000 and the net investment in the
project is ¥ 2,50,000. What is the average
rate of return of the project?

«B1 2359 71T IF A 50,000 51 wre @b
e 2,50,000 531 | AFHHE G A

[ e 90 1

3. Answer any fourof the following questions :

5%4=20

O PR R Cee wifer T fed

(@)

(b)

(¢

8A/T16

Explain how would you derive a short-
run supply curve of a firm under perfect
competition.

ol ofSTTN TS 6T ARSI ZFA N
@Y AT TOE R, I A

Explain why the monopolist does not
have a supply curve for his or her
product.

GG GFCEOA AT oS AT IS
@ 3 AT, IR0 A

“Monopoly price is a function of marginal
cost of production and elasticity of
demand.” Illustrate the statement.

“qanby T 2E diftT TeAmE YqR oE
PifvR BfwemeR % IR 177 e mm
47|

{ Continued )

(d)

(e)

(5)

“Profit can be earned by introducing
innovation in manufacturing and methods
of supplying the goods.” Discuss the
statement.

“Tes WE  qEE @ RS [ETS
ol e wee g AR S
ST F41 |

Whether welfare economics is a positive
or a normative science? Give reasons in
support of your answer.

Fame e g9y weREwE @S-
wefReE 2 (O Tedd TS I i |

Write in brief the basic concept of
‘compensation principle’ of welfare.

FEE WOURA TYBE T ARG T
7 4

4. Answer the following questions :

T PpTYRA Ted fore

(@)
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Determine the long-run supply curve of
an industry in a perfectly competitive

market. 10
ol TPl TR 51 SeIeE T A
@1 faRe 40 |
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(b)

8A/T16

(6)

Or / 291

Explain how wage rate is determined
when there is monopoly in the labour
market and perfect competition in the
product market, 10

G 29 T B o Tesia IE{

I afewfreres 21, R W @i ety
9=, 7 F9 |

Explain how a monopolist attains
equilibrium of price and output in the
long run. 10

%W@amﬁmw@awmw

wﬁquwmm,m
I

Or / g1

Explain the drawbacks of the Ricardian
theory of rent. In what respect the
modern theory of interest is an improve-
ment over the Ricardian theory of rent?
5+5=10

WWWW@WWWF%
e cvae <1 Wi oy e e
geT e, forap | ;

( Continued )

(c)

(d)
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(7))

Discuss the following concepts : 5+5=10

T {1 ARCFEDT A 9
() Pareto optimality in exchange

TS CRGR Feg

(i) Pareto optimality in production
T TRENS (AR FHTOG

Or / 9231

Discuss briefly the net present value
criterion and internal rate of return
criterion of a project evaluation. Which
one do you consider better and why? 10

B LT YR A@ WA AR J A
SRR dfens 2 RS oYeF S 9 |
DR f$oT0 T @R 2rzeeaen s R 2

Write the conditions of prerequisites of
price discrimination by a monopolist.
How does a discriminating monopolist
allocate his outputs in different markets
to charge different prices? 5+5=10

oI IR W Renme 3w
H-oomr & &, G g gy =
feremss T [ifen qams R(fen oy o
HHE $RAE (o€ i HE @
5 4w 2
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( 8)

Or / 9241

The information of three projects A, B
and C each of which has cost of ¥ 60,000.
According to pay-back period method,
determine the rank of the projects. Net
profit before depreciation and after tax
(in ¥) is given below :

oject|] A B c
Year

I 6,000 | 10,000 { 13,000
I 9,000 | 12,000 | 15,000
mr 11,000 | 9,000| 16,000
w 15,000 7,000 | 12,000

v 10,000 | 8,000 —

vi — 7,000 —

fof0r 28 A, B WF C oo o753 493
60,000 G| Ao I omES P
AFHCFROR T fAef 91 1 299 SR ] W
FT M Pree deanE T B (G5

f2o1°79) et i 27 -
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3T A B (@
759

I 6,000 | 10,000 | 13,000
¥l 9,000 | 12,000 | 15,000
m 11,000 9,000 | 16,000
v 15,000 | 7,000 12,000

v 10,000 | 8,000 —_

Vi — 7,000 —

* % %
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